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L 1. If f”(x) = x(x + 2)*, then the graph of f i§ goncaﬁe@'m.
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i The graph of y = f(x) on the closed interval [0, 4] is shown above. Which of the following could be the graph
of y= f'(x)?
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3. Let f be the function with derivative defined by f'(x) = x' = 4x. At which of the following values of x does

the graph of  have a point of inflection? /1 X ls)r' Revive
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4. Lel f be the function given by f(x) = ,‘h h where k_is a constant. For what values of k, if any,
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5. Let v = f(x) define a t-\fice-dil'ferelltiablmn::iu?amd let v = t(x) be the line tangent to the graph of [ at
x =2 If #(x) 2 f(x) forall real x, which of the following must be true?
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